THEOREM

F chain map $\Theta: S.(X \times Y) \rightarrow S.(X) \otimes S.(Y),$ defined 4 spaces X, Y, which is natural in X&Y and S.t. in degree O we have; $\forall x \in X, y \in Y, \quad D((x,y)) = X \otimes g$. Naturality means: $\forall maps \quad X \xrightarrow{f} X', \quad Y \xrightarrow{f} Y'$ we have a commutative diagram $\begin{array}{cccc} S_{c} & (x \times Y) \xrightarrow{\Theta} S_{c} & (x) \otimes S_{c} & (Y) \\ (f \times g)_{c} & t & & t & f_{c} \otimes g_{c} \\ & S_{c} & (x' \times Y') \xrightarrow{\Theta} S_{c} & (x') \otimes S_{c} & (Y') \end{array}$

Additionally, $\partial_{\infty} \circ \theta = \theta \partial$. Proof of theorem (acyclic models) To construct the map do induction on the degree. N=0 Define $\theta(x,y) = x \otimes y$ (assumption) Let $n \ge 1$, and suppose that θ has already been defined on $S_{\kappa}(x \times Y) \neq 0 \le t < n$

and all spaces X, Y. Consider k=n. We first degine 0 for the case $X = Y = \Delta_n$ and a very specific chain d_n , where $d_n: \Delta_n \to \Delta_n \Delta_n$ is the diagonal map $(d_n(x) = (x, x))$. Consider $\partial d_n \in S_{n-1}(\Delta_n \times \Delta_n)$. By induction Oldn) is already defined CLAIM $Fane(S.(\Delta_n)\otimes S.(\Delta_n))_n$ s.t. $\theta(3d_n) = \partial \alpha a_n$ troof of claim $\partial_{0} \Theta (\partial q^{u}) \stackrel{\times}{=} \Theta (\partial \partial q^{u}) \stackrel{=}{=} 0 \Rightarrow$ O (2dn) is a cycle of degree n-1 In $S.(\Delta_n) \otimes S.(\Delta_n)$. If $n \ge 2$ then as sⁿ is contractible we have $H_{n-1}(S(\Delta_n)\otimes S(\Delta_n))=0,$ hence $\exists a_n \in (S(b_n) \otimes S(b_n))_n$ is.t.



Clearly, $\mathcal{B} = ((\mathcal{W}_{X} \circ \mathcal{B}) \times (\mathcal{W}_{Y} \circ \mathcal{B})) \circ \mathcal{A}_{n} \xrightarrow{} \mathcal{A}_{X} \xrightarrow{} \mathcal{A}$ as maps. And $G = ((\mathcal{D}_x \circ G) \times (\mathcal{D}_y \circ G))_c (d_n)$ as chains Define $\theta(\mathcal{G}) := \left((\mathcal{T}_{x^{\circ}} \mathcal{G})_{c} \otimes (\mathcal{T}_{y^{\circ}} \mathcal{G})_{c} \right) \left(\theta(d_{n}) \right)$ Note that this is the only way to define O (once O(dn) has already been defined) because

EXERCISE check that in case $X = \Delta_n$, $Y = \Delta_n$, $B = d_n$, the new definition coincides with the previous one. EXERCISE Check that θ as defined above satisfies the naturality condition for maps $X \longrightarrow X', Y \longrightarrow Y'$ in digrees $\leq n$. Finally, we show that $\partial_0 \Theta(\delta) = \Theta(\partial \delta) + \partial \delta S_n(x \times 1)$. $\mathfrak{I}_{0} \mathfrak{G}(\mathfrak{I}) = \mathfrak{I}_{0}(\mathfrak{I}_{x} \mathfrak{G})^{c} \mathfrak{G}(\mathfrak{I}_{x} \mathfrak{G})^{c} \mathfrak{G}(\mathfrak{I}_{y} \mathfrak{G})^{c} \mathfrak{G}(\mathfrak{G}(\mathfrak{G}))$ $\frac{\partial Q(dn)}{\partial Q(dn)} = \frac{\partial Q(dn)}{\partial Q(dn)}$ naturality $\geq \Theta ((\Pi_{x} \circ \mathcal{E}) \times (\Pi_{y} \circ \mathcal{E}))_{c} (\partial d_{n})$ $= \Theta \circ \partial \left(\left(\Pi_{X} \circ \delta \right) \times \left(\Pi_{Y} \circ \delta \right) \right) \left(dn \right)$ $\varepsilon \Theta \Theta(S)$

This completes the induction & the proof of this statement.



Our construction of x and O involved noncanonical choices (of chains whose boundary was a given chain) so we must show that, up to chain homotopy, the particular choice made is irrelevant.

THEOREM

Let ϕ, Υ be two chain maps, either $S(x \times \Upsilon) \rightarrow S(x \times \Upsilon)$, or

 $S(x) \otimes S(\mathcal{I}) \longrightarrow S(x \times \mathcal{I}) \text{ or } \mathcal{I}(x \times \mathcal{I}) \longrightarrow S(x) \otimes S(\mathcal{I})$ or $S(X) \otimes S(Y) \rightarrow S(X) \otimes S(Y)$, defined for all spaces X, Z and S.t. $\Rightarrow & \mathcal{X}$ are natural w.r.t. maps between spaces and s.t. P&Y are the canonical maps in degrée 0. Then Z a chain homotopy Dx, x between \$ & Y. Moreover, we can make the chain homotopy Dx, y to be natural w.r. to map between spaces $X \rightarrow X', \Upsilon \rightarrow \Upsilon'$

We'll prove the version for $\varphi_{\mathcal{T}}: S(x \times \mathcal{T}) \longrightarrow S(X) \otimes S(\mathcal{T}).$ We'll define $D: S(x \times Y) \rightarrow (S(x) \otimes S(Y))[1]$ st. D = 3 + 3 = 0 = 4 - 4. Proof I these proofs are quite similar, so we skip some details] Induction. Put D=0 this works since $\phi=1$ in degree 0. Let n21, Assume that D has already been defined with all the above properties VX, I and OKK<n. We'll define now D on Sn(XXY). Consider

 $d_n: \Delta_n \rightarrow \Delta_n \times \Delta_n$ the diagonal map viewed as an m-simplex in $S_n(\Delta_n \times \Delta_n)$.

$$= 9^{\phi}(q^{\mu}) - 9^{\phi}(q^{\mu}) = 9^{\phi}(q^{\mu}) - 9^{\phi}(q^{\mu}) = 9^{\phi}(q^{\mu}) - 9^{\phi}(q^{\mu}) = 9^{\phi}(q^{\mu}) - 9^{\phi}(q^{\mu}) = 9^$$

 $\sim d (d_n)$ on 1 degree less

= 0

 \Rightarrow $(\phi - \Upsilon - D_{\partial})(d_{n}) \in (S(\Delta_{n}) \otimes S(\Delta_{n}))_{n}$ is a cycle. By the limma from the last lecture $\exists a \in (S(\Delta_n) \otimes S(\Delta_n)_{n})$ s.t. $\exists a = (\varphi - \Psi - D \circ \Im)(d_n)$. Define $D(d_n) := a$. Clearly, now we have $(\partial D + D \partial)(d_n) = (\phi - \psi)(d_n)$ Now, let $\beta: O_n \rightarrow X \times Y$ be a singular n-simplex. We have $\mathcal{S} = \left((\mathcal{M}_{x} \circ \mathcal{S}) \times (\mathcal{M}_{y} \circ \mathcal{S}) \right)_{\mathcal{C}} (\mathcal{A}_{n}).$

Define $DS:=((\Pi_x \circ S)_c \otimes (\Pi_y \circ S)_c)(D(d_n)).$ EXERCISE Finish the proof.

COROLLARY (EILENBERG-ZILBER THM) The chain map $X:S(X) \otimes S(Y) \rightarrow S(X \times Y)$ and $\Theta: s(x \times Y) \rightarrow s(x) \otimes s(Y)$ are uniquely defined up to chain homotopy by their values in digree 0 and the repuirement that they are ratural in X, Y. Moreover, $\Theta \circ X^{\simeq}$ id , $X \circ \Theta \simeq ed$ Via chain homotopies that are natural in X,Y. In particular, X& O are chain homotopy equivalences and I a natural 00 (W.r. to X, Y) $H_{*}(X \times Y) \cong H_{*}(S(X) \otimes S_{\circ}(Y))$ 17 G is an abelian group, then $H^{\star}(X \times \hat{A}; \mathcal{C}) \cong H^{\star}(\mathcal{Z}(X) \otimes \mathcal{Z}(\hat{A}) \otimes \mathcal{C})$

and

$$H^*(x \times y; G) \cong H^*(hom(s(x) \otimes s(y)G)).$$

Proof
immediately follows from the previous theorem